2023 NYJC H2 Maths Promo Paper Duration: 3 hrs Marks: 100

Attempt all questions.
1 (a)  Sketch, on the same axes, the graphs of y =35 L and y= ! 5 [2]
x—1 (x=5)
. . 1 1
(b)  Solve the inequality 5———< > [3]
x=1 (x-5)
2 (a) Find f'(x) where f(x)= ln(x +1+x2 ) , giving your answer in its simplest form. [3]
. i 2+x .. C
(b) Find g'(x) where g(x) =tan oo )’ giving your answer in its simplest form. (3]
—2x
3 With reference to the origin O, the points 4 and B have position vectors a and b respectively.
(a) A point C has position vector a + b. State the geometric shape formed by O, 4, B and C. [1]
Point M lies on AC, between 4 and C, such that AM : MC =1 : 2.
(b)  Show that the area of triangle OAM can be written as a|a xb|, where « is a constant to be found.[2]
It is given that |b| = 5 and the shortest distance from 4 to OB is NEY
(c)  Using your result from part (b), find the exact value of the area of triangle OAM. 2]
(d) Point Nlies on OM, between O and M, such that ON : NM =3 : 1. Show that 4, N and B are collinear
and hence find the ratio AN : NB. [3]
4 (a) Describe fully a sequence of transformations which transforms the curve y2 =x onto the curve
y 2
= =l-x. 2
4 (2]
(b) A curve has equation y = f(x), where

{2\/1—x for 0<x<l,
f(x):

0 otherwise.

(i) Sketch the curve of y = f(x) for —2 < x <2, stating the coordinates of the end points and the

coordinates of any points where the curve crosses the axes. [3]

(ii) Sketch the curve with equation y = |f (x) - 1| for -2 < x <2, stating the coordinates of the

end points and the coordinates of any points where the curve crosses the axes. [3]



The function g is defined by

g x—)e(x*%)2 ,xeR, —-l<x<a.

(a) State the greatest value of a for which the function g ! exists. [1]

For the rest of the question, let a = 0.

(b)  Sketch the graphs of y = g(x), y = g "'(x) and y = g "'g(x) on the same diagram, showing clearly the
relationship between them. You should also state the coordinates of the end points of the
graphs. [3]

The function h is defined by

h:x— I+lnx,xeR, x>0.

© (@ Find hg(x) and state its domain. [2]

(ii) Hence, or otherwise, find the exact value of (hg)_1 (%) [2]

Let f(r) =In(r), where r is a positive integer and » > 2.

(@)  Show that £(r—1)—2£(r)+ £(r +1) = 11{1 —izj (1]
r
(b)  Show that éln(l—%)zln(l\;;lj. 3]

(¢) Explain why the series z ln(1 —sz converges and state the exact value of the sum to infinity of
r=2 r

this series. (2]

(d) Find an expression for the series

ln[l—%J+ln(l—%}+ln[l—%]+m,
(2k+1) (2k+2) (2k+3)

giving your answer as a single logarithmic function in terms of £. [3]

—t

. . 1 _
The parametric equations of a curve are x = Eet —2¢" and y=¢e' +2e".

(a) Using calculus, find the exact gradient of the normal to the curve at the point where ¢ =1n4. [3]
(b)  Show that the equation of the normal is 5x + 7y = 39. [2]
(c)  Find the exact value of # where the normal meets the curve again. [4]

It is given that y = f(x), where f(x)=tan(a + fBx), for constants o and S.

(a)  Show that f'(x) = ﬁ(l +y2). Hence find f"(x) and f'"(x) in terms of Fand y. [5]

(b) Inthe case where o = % , use your results from part (a) to find the Maclaurin series for f(x) in terms
of f3, up to and including the term in x°. [3]
(c) Using your result from part (b), state the equation of the tangent to the curve y = tan(%+3xj at

x=0. [1]

(d) Explain why a Maclaurin series for y = cot 3x cannot be found. [1]
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Referred to the origin O, the points 4, B and C have position vectors 3i—j , S5i+3j+4k and

2i+aj+ J2k respectively, where « is a non-zero constant.

(a) Given that the acute angle between the x-axis and the line passing through A and C is 60°, find the
value of c. [3]

The line / passes through 4 and B.

(b) A point Q lies on [ such that AQ is 3 units. Find the two possible position vectors of Q. [4]

The plane 7 containing 4 has equation x + 2z = 3.

(c) Find the position vector of the point ' on 7 that is closest to B. [3]

(d) Hence find a vector equation of the line of reflection of / in 7. [3]

A radio game show called the Inverted Tower of Ionah is broadcasted live everyday. Each day, a participant
is invited to play the game. The participant has to stack up discs of the same thickness but increasing cross-
sectional area to build a tower. Each level of the tower consists of one disc. The base of the tower is a disc
with base area 6 cm®. For each successive level, a disc with base area 8 cm? larger than the preceding disc
is placed on the tower. The game will stop if the tower collapses and the participant loses the game.
Alan is a participant who participated in the game on Day 1.
(a)  Alan claims that one of the discs he used has base area 140 cm?. Explain if this is possible. 2]
(b) Alan’s completed tower consists of 22 discs with a total volume of 4950 cm®. Assuming that the
discs have uniform cross-sectional areas with the same thickness of # cm, find the value of
h. [2]
The participant wins the prize money for the day if he is able to build a tower with 30 levels within 2
minutes. Ben will participate in the game on Day 2. He wants to win the game and decides to practise
before the game. He uses 3 minutes to complete the tower in his first attempt and the time for each
subsequent attempt is 5% less than the time for the previous attempt.

(¢) Find the minimum number of attempts he needs to build the tower within 2 minutes. [2]

On Day 1 of the radio game show, the prize money is $200. For each day of the game, if the prize money
is not won, the radio station will donate 20% of the prize money for that day to charity before topping up
the balance prize money by $150 for the next day. The prize money is increased in the same way every
day until it is won.

(d) If there are no winners since Day 1, show that the prize money at the start of Dayn is
5[ 750-550(0.8)"' | 3]

If the prize money is won, it will start from $200 again on the next day. It is now given that the first and
second winner of the game won the prize money on Day & and Day 24 respectively.
(e) By using part (d), find the set of possible values of & such that the first winner won a prize money of

at least $100 more than the second winner. [3]
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Jane bought a piece of circular cardboard of negligible thickness and radius 20 cm to make an open
box with a square base. Figure 1 shows the net of a square-based box that she cuts from the circular
cardboard. The net consists of a square of side ¢ cm and four identical rectangles, each with sides
acm by hcm. The net is folded to form a box which has a square base of side a cm and vertical

height 4 cm, as shown in Figure 2.
(i)  Show that the volume of the box is (az 400-0.254° — 0.5a3) cm’. 2]

(ii) By differentiation, find the values of @ and 4 which give a maximum volume of the box,
giving your answers correct to 1 decimal place. You do not need to show that these values

give a maximum volume. [5]

Jane later bought an open metal cone to make a large candle. The inverted cone has height 16 cm
and the circular opening at the top has radius 10 cm as shown in Figure 3. Melted wax is poured at
a constant rate of 5 cm’ per second into the inverted cone. At time ¢ seconds after the start, the depth
of the melted wax is x cm. Find the rate of increase of the depth of the melted wax when the depth

of the melted wax is 12 cm. [5]

Figure 3

[The volume of a cone of base radius » and height 4 is given by V' = %72’1"2}1. ]



